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Practice: Practice Problems Conservation of Energy             
1. A boy is sitting on a sled at the top of a 23.7 m high hill. If the total mass of the boy and the sled is 37.3 kg, how fast will they be going when they reach the bottom of the hill?
2. A bag of cement with mass of 16 kg falls into a river from a 12 m high bridge. What is its speed just before it hits the water?
3. Assuming the height of the hill is 40.0 m, and the roller coaster car starts from rest at the top, calculate         A) the speed of the roller coaster car at the bottom of the hill, and B) at what height will it have half this speed. 
4. The object's mass is 10. kg and it starts at rest at point A. Find the missing values at points A, B and C. 
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5. You approach the top of a hill at a speed of 5.0 m/s. Your and your bike’s masses together are 90. kg. 
a.    What's your kinetic energy? 

b. What's your potential energy? 

c. What's your total energy? 
Now you have reached the bottom of the hill (assuming negligible friction and no pedaling) 

d. What will be your potential energy at the bottom of the hill? 

e. What will be your kinetic energy at the bottom of the hill? 

f. What will be your speed?
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